Effect on sensor
parameterization
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Sensitivity
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pi/K separation

4 sigma sep. above 50 GeV/c requires
better than 0.3 mrad effective ring
resolution!!

--> At 55 GeV/citis 0.25 mrad!!
4-sigma corresponds to alpha->3.15
107-5

3-sigma 1.5/1000

3.5-sigma < 1/1000
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Our configurationis not
compatibleto 4-sigma (n™
1.0008). Although for eta 2.5 it
is compatiblefor 3.75 sigma
separationand for eta3.5itis
capable of 3.5 sigma sep.
SINGLE PARTICLE SHOT AT
SINGLE PHI!! --> pion res.
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Our current geometry is not providing effective ringresolution of 3.5 sigma separation!

Possiblecauseoffluctuations : ring angle vs eta (sensor shape variation)
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